

Equation of flexural vibration with an unknowns coefficients

Yusif Sevdimaliyev · Matlab Y. Salimov ·
Telman M. Gasimov

Received: 18.01.2025 / Revised: 24.05.2025 / Accepted: 10.06.2025

Abstract. *In this work, we study one inverse boundary value problem for the equations of flexural vibrations of a bar. The essence of the problem is that it is required together with the solution to determine the unknown coefficient. The problem is considered in a rectangular area. To solve the considered problem, the transition from the original inverse problem to some auxiliary inverse problem is carried out. The existence and uniqueness of a solution to the auxiliary problem are proved with the help of contracted mappings. Then the transition to the original inverse problem is made, as a result, a conclusion is made about the solvability of the original inverse problem.*

Keywords. inverse boundary value problem · classical solution · uniqueness · existence · Fourier method · equation of flexural vibration

Mathematics Subject Classification (2010): 74J05

1 Introduction

In modern technology, it is necessary to regulate vibration processes in onedimensional distributed systems, and the relevance of these problems is increasing. For shafts, which are the basic principles of mechanical transmission, dangerous transverse vibrations are not allowed [4]. In aircraft such elements are constructed simultaneously by bending and torsional vibrations. One of the objectives of the project is to prevent the use of shaft vibrations with an adjustable speed [9, 15]. For such problems, mathematical models of transverse vibrations of rods are built on the basis of a refined theory [5].

Yusif Sevdimaliyev
Baku State University, Azerbaijan, Baku
E-mail: yusifsev@mail.ru

Matlab Y. Salimov
Azerbaijan State Oil and Industry University, Azerbaijan, Baku
E-mail: m.y.salimov@gmail.com

Telman M. Gasimov
Baku State University, Azerbaijan, Baku
E-mail: qasimov.telman83@mail.ru

Subsequently, the applied significance of inverse problems attracted the attention of many authors, and in recent decades numerous articles and monographs devoted to inverse problems have been published (see, for example, [2, 3, 6 - 8, 11 - 14] and the literature cited therein)

2 Formulation of the problem and its equivalent form

Let $D_T = \{(x, t) : 0 \leq x \leq 1, 0 \leq t \leq T\}$ and $f(x, t), \varphi(x), \psi(x), h_i(t)$ ($i = 1, 2$) are given functions defined for $x \in [0, 1], t \in [0, T]$. Consider the following inverse problem: to find a triple $\{u(x, t), a(t), b(t)\}$ of the functions $u(x, t), a(t), b(t)$ satisfying the equation

$$\begin{aligned} u_{tt}(x, t) - u_{xx}(x, t) + u_{xxxx}(x, t) = \\ = a(t)u(x, t) + b(t)u_t(x, t) + f(x, t) \end{aligned} \quad (2.1)$$

with initial

$$u(x, 0) = \varphi(x), \quad u_t(x, 0) = \psi(x) \quad (0 \leq x \leq 1), \quad (2.2)$$

and boundary conditions

$$u(0, t) = u_x(1, t) = u_{xx}(0, t) = u_{xxx}(1, t) = 0 \quad (0 \leq t \leq T) \quad (2.3)$$

and with additional conditions

$$u(x_i, t) = h_i(t) \quad (0 < x_i \leq 1, i = 1, 2; x_1 \neq x_2; 0 \leq t \leq T), \quad (2.4)$$

Introduce the designation

$$\tilde{C}^{4,2}(D_T) = \{u(x, t) : u(x, t) \in C^2(D_T), u_{xxxx}(x, t) \in C(D_T)\}$$

Definition 2.1 A triple $\{u(x, t), a(t), b(t)\}$ of the functions $u(x, t) \in \tilde{C}^{4,2}(D_T), a(t) \in C[0, T]$ and $b(t) \in C[0, T]$ satisfying equation (2.1) in D_T , condition (2.2) in $[0, 1]$ and conditions (2.3)-(2.4) in $[0, T]$ we call a classical solution to boundary value (2.1)-(2.4).

We prove the following

Theorem 2.1 Let $f(x, t) \in C(D_T), \varphi(x), \psi(x) \in C[0, 1], h_i(t) \in C^2[0, T] (i = 1, 2), h(t) \equiv h_1(t)h_2'(t) - h_2(t)h_1'(t) \neq 0$ ($0 \leq t \leq T$) and the matching conditions

$$\varphi(x_i) = h_i(0), \quad \psi(x_i) = h_i'(0) \quad (i = 1, 2)$$

are satisfied. Then the problem of finding a classical solution to problem (2.1)-(2.4) is equivalent to the problem of determining the functions $u(x, t) \in \tilde{C}^{4,2}(D_T), a(t) \in C[0, T]$ and $b(t) \in C[0, T]$ from (2.1)-(2.3) and

$$\begin{aligned} h_i''(t) - u_{xx}(x_i, t) + u_{xxxx}(x_i, t) + \\ = a(t)h_i(t) + b(t)h_i'(t) + f(x_i, t) \quad (i = 1, 2; 0 \leq t \leq T). \end{aligned} \quad (2.5)$$

Proof. Let $\{u(x, t), a(t), b(t)\}$ be a classical solution to problem (2.1)-(2.4). Since $h_i(t) \in C^2[0, T] (i = 1, 2)$, differentiating (2.4) two times over t we get

$$u_t(x_i, t) = h_i'(t), \quad u_{tt}(x_i, t) = h_i''(t) \quad (i = 1, 2; 0 \leq t \leq T). \quad (2.6)$$

Taking $x = x_i$ in equation (2.1) we find

$$\begin{aligned} u_{tt}(x_i, t) - u_{xx}(x_i, t) + u_{xxxx}(x_i, t) = \\ = a(t)u(x_i, t) + b(t)u_t(x_i, t) + f(x_i, t) \quad (i = 1, 2; 0 \leq t \leq T). \end{aligned} \quad (2.7)$$

From this considering (2.4) and (2.6) we arrive at (2.5).

Now let's suppose that $\{u(x, t), a(t), b(t)\}$ is a solution of problem (2.1)-(2.3), (2.5). Then from (2.5) and (2.7) we get

$$\begin{aligned} \frac{d^2}{dt^2}(u(x_i, t) - h_i(t)) &= a(t)(u(x_i, t) - h_i(t)) + b(t)\frac{d}{dt}(u(x_i, t) - h_i(t)) \\ (i = 1, 2; 0 \leq t \leq T). \end{aligned} \quad (2.8)$$

Considering (2.2) and $\varphi(x_i) = h_i(0)$, $\psi(x_i) = h'_i(0)$ ($i = 1, 2$) we have

$$\begin{aligned} u(x_i, 0) - h_i(0) &= \varphi(x_i) - h_i(0) = 0, \\ u_t(x_i, 0) - h'_i(0) &= \psi(x_i) - h'_i(0) = 0 \quad (i = 1, 2). \end{aligned} \quad (2.9)$$

From (2.8), taking into account (2.9), it is clear that condition (2.4) is also satisfied. The theorem is proved.

3 Solvability of the inverse boundary value problem

The first component $u(x, t)$ of the solution $\{u(x, t), a(t), b(t)\}$ to problem (2.1)-(2.3), (2.5) we seek in the form

$$u(x, t) = \sum_{k=1}^{\infty} u_k(t) \sin \lambda_k x \quad \left(\lambda_k = \frac{\pi}{2}(2k-1) \right), \quad (3.1)$$

where

$$u_k(t) = 2 \int_0^1 u(x, t) \sin \lambda_k x dx \quad (k = 1, 2, \dots).$$

Then applying the formal Fourier scheme, from (2.1) and (2.2) we obtain

$$u''_k(t) + (\lambda_k^2 + \lambda_k^4)u_k(t) = F_k(t; u, a, b) \quad (0 \leq t \leq T; k = 1, 2, \dots) \quad (3.2)$$

$$u_k(0) = \varphi_k, \quad u'_k(0) = \psi_k \quad (k = 1, 2, \dots), \quad (3.3)$$

where

$$F_k(t; u, a, b) = a(t)u_k(t) + b(t)u'_k(t) + f_k(t), \quad f_k(t) = 2 \int_0^1 f(x, t) \sin \lambda_k x dx,$$

$$\varphi_k = 2 \int_0^1 \varphi(x) \sin \lambda_k x dx, \quad \psi_k = 2 \int_0^1 \psi(x) \sin \lambda_k x dx \quad (k = 1, 2, \dots).$$

Solving problem (3.2)-(3.3) we find

$$\begin{aligned} u_k(t) &= \varphi_k \cos \beta_k t + \frac{1}{\beta_k} \psi_k \sin \beta_k t + \\ &+ \frac{1}{\beta_k} \int_0^t F_k(\tau; u, a, b) \sin \beta_k(t - \tau) d\tau \quad (k = 1, 2, \dots), \end{aligned} \quad (3.4)$$

where

$$\beta_k^2 = \lambda_k^2 + \lambda_k^4 \quad (k = 1, 2, \dots).$$

After substitution of the expression $u_k(t)$ ($k = 1, 2, \dots$) into (3.1) for the determination of $u(x, t)$ we get

$$u(x, t) = \sum_{k=1}^{\infty} \left\{ \varphi_k \cos \beta_k t + \frac{1}{\beta_k} \psi_k \sin \beta_k t + \frac{1}{\beta_k} \int_0^t F_k(\tau; u, a, b) \sin \beta_k(t - \tau) d\tau \right\} \sin \lambda_k x. \quad (3.5)$$

Now from (2.5) taking into account (3.1) we have

$$a(t) = [h(t)]^{-1} \left\{ (h_1''(t) - f(x_1, t)) h_2'(t) - (h_2''(t) - f(x_2, t)) h_1'(t) + \sum_{k=1}^{\infty} (\lambda_k^2 + \lambda_k^4) u_k(t) (h_2'(t) \sin \lambda_k x_1 - h_1'(t) \sin \lambda_k x_2) \right\}, \quad (3.6)$$

$$b(t) = [h(t)]^{-1} \left\{ (h_2''(t) - f(x_2, t)) h_1(t) - (h_1''(t) - f(x_1, t)) h_2(t) + \sum_{k=1}^{\infty} (\lambda_k^2 + \lambda_k^4) u_k(t) (h_1(t) \sin \lambda_k x_2 - h_2(t) \sin \lambda_k x_1) \right\}. \quad (3.7)$$

To obtain an equation for the second component $a(t), b(t)$ of the solution $\{u(x, t), a(t), b(t)\}$ we put the expression (3.6), (3.7) in (3.4):

$$a(t) = [h(t)]^{-1} \left\{ (h_1''(t) - f(x_1, t)) h_2'(t) - (h_2''(t) - f(x_2, t)) h_1'(t) + \sum_{k=1}^{\infty} \beta_k^2 \left[\varphi_k \cos \beta_k t + \frac{1}{\beta_k} \psi_k \sin \beta_k t + \frac{1}{\beta_k} \int_0^t F_k(\tau; u, a, b) \sin \beta_k(t - \tau) d\tau \right] (h_1(t) \sin \lambda_k x_2 - h_2(t) \sin \lambda_k x_1) \right\}, \quad (3.8)$$

$$b(t) = [h(t)]^{-1} \left\{ (h_2''(t) - f(x_2, t)) h_1(t) - (h_1''(t) - f(x_1, t)) h_2(t) + \sum_{k=1}^{\infty} \beta_k^2 \left[\varphi_k \cos \beta_k t + \frac{1}{\beta_k} \psi_k \sin \beta_k t + \frac{1}{\beta_k} \int_0^t F_k(\tau; u, a, b) \sin \beta_k(t - \tau) d\tau \right] (h_1(t) \sin \lambda_k x_2 - h_2(t) \sin \lambda_k x_1) \right\}. \quad (3.9)$$

Thus, solution of problem (2.1)-(2.3), (2.5) is reduced to the solution of system (3.5), (3.8), (3.9) with respect to the unknown functions $u(x, t), a(t)$ and $b(t)$.

To study the problem of the uniqueness of the solution of problem (2.1)-(2.3), (2.5), the following lemma plays an important role.

Lemma 3.1 *If $\{u(x, t), a(t), b(t)\}$ is arbitrary classical solution of problem (2.1)-(2.3), (2.5), then the function*

$$u_k(t) = 2 \int_0^1 u(x, t) \sin \lambda_k x dx \quad (k = 1, 2, \dots)$$

satisfies system (3.4) in $[0, T]$.

Proof. Let $\{u(x, t), a(t), b(t)\}$ be any solution to problem (2.1)-(2.3), (2.5). Then multiplying both sides of equation (2.1) by the function $2 \sin \lambda_k x$ ($k = 1, 2, \dots$), integrating the obtained equality over x from 0 to 1 and using the relations

$$\begin{aligned} 2 \int_0^1 u_{tt}(x, t) \sin \lambda_k x dx &= \frac{d^2}{dt^2} \left(2 \int_0^1 u(x, t) \sin \lambda_k x dx \right) = u_k''(t) \quad (k = 1, 2, \dots), \\ 2 \int_0^1 u_{xx}(x, t) \sin \lambda_k x dx &= -\lambda_k^2 \left(2 \int_0^1 u(x, t) \sin \lambda_k x dx \right) = -\lambda_k^2 u_k(t) \quad (k = 1, 2, \dots), \\ 2 \int_0^1 u_{xxxx}(x, t) \sin \lambda_k x dx &= \lambda_k^4 \left(2 \int_0^1 u(x, t) \sin \lambda_k x dx \right) = \lambda_k^4 u_k(t) \quad (k = 1, 2, \dots) \end{aligned}$$

we obtain that equation (3.2) is satisfied.

Similarly, the fulfilment of (3.3) is obtained from (2.2). Thus $u_k(t)$ ($k = 1, 2, \dots$) is a solution to problem (3.2), (3.3).

As immediately follows from this the function $u_k(t)$ ($k = 1, 2, \dots$) satisfies to system (3.4) on $[0, T]$. Lemma is proved.

This lemma implies the validity of the following

Consequence. *Let system (3.5), (3.8), (3.9) have a unique solution. Then problem (2.1)-(2.3), (2.5) cannot have more than one solution, i.e. if problem (2.1)-(2.3), (2.5) has a solution, then it is unique.*

Now, in order to study problem (2.1)-(2.3), (2.5) consider the following spaces.

1 Denote by $B_{2,T}^{5,3}$ [14] the set of all functions $u(x, t)$ of the form

$$u(x, t) = \sum_{k=1}^{\infty} u_k(t) \sin \lambda_k x \quad \left(\lambda_k = \frac{\pi}{2}(2k-1) \right),$$

Defined on D_T , where each of the functions $u_k(t) \in C^1[0, T]$ ($k = 1, 2, \dots$) and

$$J_T(u) \equiv \left(\sum_{k=1}^{\infty} (\lambda_k^5 \|u_k(t)\|_{C[0,T]})^2 \right)^{\frac{1}{2}} + \left(\sum_{k=1}^{\infty} (\lambda_k^3 \|u_k'(t)\|_{C[0,T]})^2 \right)^{\frac{1}{2}} < +\infty.$$

The norm in this space is defined as

$$\|u(x, t)\|_{B_{2,T}^{5,3}} = J(u).$$

1 By $E_T^{5,3}$ we denote the space of the vector functions $\{u(x, t), a(t), b(t)\}$ such that $u(x, t) \in B_{2,T}^{5,3}$, $a(t) \in C[0, T]$, $b(t) \in C[0, T]$ and equip this space by the norm λ_k^3

$$\|z\|_{E_T^{5,3}} = \|u(x, t)\|_{B_{2,T}^{5,3}} + \|a(t)\|_{C[0,T]} + \|b(t)\|_{C[0,T]}.$$

Clearly, $B_{2,T}^{5,3}$ and $E_T^{5,3}$ are Banach spaces.

Now we consider in $E_T^{5,3}$ the operator

$$\Phi(u, a, b) = \{\Phi_1(u, a, b), \Phi_2(u, a, b), \Phi_3(u, a, b)\},$$

where

$$\Phi_1(u, a, b) = \tilde{u}(x, t) \equiv \sum_{k=1}^{\infty} \tilde{u}_k(t) \sin \lambda_k x, \Phi_2(u, a, b) = \tilde{a}(t), \Phi_3(u, a, b) = \tilde{b}(t),$$

$\tilde{u}_k(t)$ ($k = 1, 2, \dots$), $\tilde{a}(t)$ and $\tilde{b}(t)$ are the right hand sides of (3.4) and (3.8), (3.9) correspondingly.

Obviously

$$\lambda_k^2 < \beta_k < \sqrt{2}\lambda_k^2, \quad \frac{1}{\sqrt{2}\lambda_k^2} < \frac{1}{\beta_k} < \frac{1}{\lambda_k^2}.$$

Then we have

$$\begin{aligned} \left(\sum_{k=1}^{\infty} (\lambda_k^5 \|\tilde{u}_k(t)\|_{C[0,T]})^2 \right)^{\frac{1}{2}} &\leq \sqrt{5} \left(\sum_{k=1}^{\infty} (\lambda_k^5 |\varphi_k|)^2 \right)^{\frac{1}{2}} + \sqrt{15} \left(\sum_{k=1}^{\infty} (\lambda_k^3 |\psi_k|)^2 \right)^{\frac{1}{2}} + \\ &+ \sqrt{5T} \left(\int_0^T \sum_{k=1}^{\infty} (\lambda_k^3 |f_k(\tau)|)^2 d\tau \right)^{\frac{1}{2}} + \sqrt{5} T \|a(t)\|_{C[0,T]} \left(\sum_{k=1}^{\infty} (\lambda_k^5 \|u_k(t)\|_{C[0,T]})^2 \right)^{\frac{1}{2}} + \\ &+ \sqrt{5} T \|b(t)\|_{C[0,T]} \left(\sum_{k=1}^{\infty} (\lambda_k^3 \|u'_k(t)\|_{C[0,T]})^2 \right)^{\frac{1}{2}}, \end{aligned} \quad (3.10)$$

$$\begin{aligned} \left(\sum_{k=1}^{\infty} (\lambda_k^3 \|\tilde{u}'_k(t)\|_{C[0,T]})^2 \right)^{\frac{1}{2}} &\leq \sqrt{10} \left(\sum_{k=1}^{\infty} (\lambda_k^5 |\varphi_k|)^2 \right)^{\frac{1}{2}} + \sqrt{5} \left(\sum_{k=1}^{\infty} (\lambda_k^3 |\psi_k|)^2 \right)^{\frac{1}{2}} + \\ &+ \sqrt{5T} \left(\int_0^T \sum_{k=1}^{\infty} (\lambda_k^3 |f_k(\tau)|)^2 d\tau \right)^{\frac{1}{2}} + \sqrt{5} T \|a(t)\|_{C[0,T]} \left(\sum_{k=1}^{\infty} (\lambda_k^5 \|u_k(t)\|_{C[0,T]})^2 \right)^{\frac{1}{2}} + \\ &+ \sqrt{5} T \|b(t)\|_{C[0,T]} \left(\sum_{k=1}^{\infty} (\lambda_k^3 \|u'_k(t)\|_{C[0,T]})^2 \right)^{\frac{1}{2}}, \end{aligned} \quad (3.11)$$

$$\|\tilde{a}(t)\|_{C[0,T]} =$$

$$\begin{aligned} &= \left\| [h(t)]^{-1} \right\|_{C[0,T]} \left\{ \left\| (h''_1(t) - f(x_1, t)) h'_2(t) - (h''_2(t) - f(x_2, t)) h'_1(t) \right\|_{C[0,T]} + \right. \\ &+ 2 \left\| |h'_2(t)| + |h'_1(t)| \right\|_{C[0,T]} \left(\sum_{k=1}^{\infty} \lambda_k^{-2} \right)^{\frac{1}{2}} \left[\left(\sum_{k=1}^{\infty} (\lambda_k^5 |\varphi_k|)^2 \right)^{\frac{1}{2}} + \sqrt{2} \left(\sum_{k=1}^{\infty} (\lambda_k^3 |\psi_k|)^2 \right)^{\frac{1}{2}} \right] + \\ &+ \sqrt{2T} \left(\int_0^T \sum_{k=1}^{\infty} (\lambda_k^3 |f_k(\tau)|)^2 d\tau \right)^{\frac{1}{2}} + \sqrt{2} T \|a(t)\|_{C[0,T]} \left(\sum_{k=1}^{\infty} (\lambda_k^5 \|u_k(t)\|_{C[0,T]})^2 \right)^{\frac{1}{2}} + \end{aligned}$$

$$+ \sqrt{2} T \|b(t)\|_{C[0,T]} \left(\sum_{k=1}^{\infty} (\lambda_k^4 \|u'_k(t)\|_{C[0,T]})^2 \right)^{\frac{1}{2}} \Bigg] \Bigg\}, \quad (3.12)$$

$$\begin{aligned} & \left\| \tilde{b}(t) \right\|_{C[0,T]} = \\ & = \left\| [h(t)]^{-1} \right\|_{C[0,T]} \left\{ \left\| (h_2''(t) - f(x_2, t)) h_1(t) - (h_1''(t) - f(x_1, t)) h_2(t) \right\|_{C[0,T]} + \right. \\ & + 2 \left\| |h_2(t)| + |h_1(t)| \right\|_{C[0,T]} \left(\sum_{k=1}^{\infty} \lambda_k^{-2} \right)^{\frac{1}{2}} \left[\left(\sum_{k=1}^{\infty} (\lambda_k^5 |\varphi_k|)^2 \right)^{\frac{1}{2}} + \sqrt{2} \left(\sum_{k=1}^{\infty} (\lambda_k^5 |\psi_k|)^2 \right)^{\frac{1}{2}} \right] + \\ & + \sqrt{2T} \left(\int_0^T \sum_{k=1}^{\infty} (\lambda_k^4 |f_k(\tau)|)^2 d\tau \right)^{\frac{1}{2}} + \sqrt{2} T \|a(t)\|_{C[0,T]} \left(\sum_{k=1}^{\infty} (\lambda_k^5 \|u_k(t)\|_{C[0,T]})^2 \right)^{\frac{1}{2}} + \\ & \left. + \sqrt{2} T \|b(t)\|_{C[0,T]} \left(\sum_{k=1}^{\infty} (\lambda_k^4 \|u'_k(t)\|_{C[0,T]})^2 \right)^{\frac{1}{2}} \right\}, \quad (3.13) \end{aligned}$$

where

$$\begin{aligned} \tilde{u}'_k(t) &= -\beta_k \varphi_k \sin \beta_k t + \psi_k \sin \beta_k t + \\ &+ \int_0^t F_k(\tau; u, a, b) \cos \beta_k(t - \tau) d\tau \quad (k = 1, 2, \dots). \end{aligned}$$

Assume that the data of problem (2.1)-(2.3), (2.5) satisfy the following conditions:

1. $\varphi(x) \in C^4[0, 1]$, $\varphi^{(5)}(x) \in L_2(0, 1)$, $\varphi(0) = \varphi'_1(1) = \varphi''(0) = \varphi'''(1) = \varphi^{(4)}(0) = 0$;
2. $\psi(x) \in C^2[0, 1]$, $\psi'''(x) \in L_2(0, 1)$, $\psi(0) = \psi'(1) = \psi''(0) = 0$;
3. $f(x, t), f_x(x, t), f_{xx}(x, t) \in L(D_T)$, $f_{xxx}(x, t) \in L_2(D_T)$,
 $f(0, t) = f_x(1, t) = f_{xx}(0, t) = 0$ ($0 \leq t \leq T$);
4. $h_i(t) \in C^2[0, T]$ ($i = 1, 2$), $h(t) \equiv h_1(t)h'_2(t) - h_2(t)h'_1(t) \neq 0$ ($0 \leq t \leq T$).

Then from (3.10)-(3.13) we have

$$\|\tilde{u}(x, t)\|_{B_{2,T}^{5,3}} \leq A_1(T) + B_1(T) \left(\|a(t)\|_{C[0,T]} + \|b(t)\|_{C[0,T]} \right) \|u(x, t)\|_{B_{2,T}^{5,3}}, \quad (3.14)$$

$$\|\tilde{a}(t)\|_{C[0,T]} \leq A_2(T) + B_2(T) \left(\|a(t)\|_{C[0,T]} + \|b(t)\|_{C[0,T]} \right) \|u(x, t)\|_{B_{2,T}^{5,3}}, \quad (3.15)$$

$$\|\tilde{b}(t)\|_{C[0,T]} \leq A_3(T) + B_3(T) \left(\|a(t)\|_{C[0,T]} + \|b(t)\|_{C[0,T]} \right) \|u(x, t)\|_{B_{2,T}^{5,3}}, \quad (3.16)$$

where

$$A_1(T) = 2\sqrt{5} \left\| \varphi^{(5)}(x) \right\|_{L_2(0,1)} + 2\sqrt{5} \left\| \psi'''(x) \right\|_{L_2(0,1)} + 2\sqrt{5T} \|f_{xxx}(x, t)\|_{L_2(D_T)},$$

$$B_1(T) = 2\sqrt{5}T.$$

$$A_2(T) = \left\| [h(t)]^{-1} \right\|_{C[0,T]} \left\{ \left\| (h_1''(t) - f(x_1, t)) h'_2(t) - (h_2''(t) - f(x_2, t)) h'_1(t) \right\|_{C[0,T]} + \right.$$

$$\begin{aligned}
& + \left(\sum_{K=1}^{\infty} \lambda_k^{-2} \right)^{\frac{1}{2}} \left\| \|h_2'(t) + |h_1'(t)|\|_{C[0,T]} \left[\|\varphi^{(5)}(x)\|_{L_2(0,1)} + \right. \right. \\
& \quad \left. \left. + \|\psi'''(x)\|_{L_2(0,1)} + \sqrt{T} \|f_{xxx}(x, t)\|_{L_2(D_T)} \right] \right\|, \\
B_2(T) &= \left\| [h(t)]^{-1} \right\|_{C[0,T]} \left(\sum_{K=1}^{\infty} \lambda_k^{-2} \right)^{\frac{1}{2}} \left\| \|h_1'(t) + |h_2'(t)|\|_{C[0,T]} T, \right. \\
A_3(T) &= \left\| [h(t)]^{-1} \right\|_{C[0,T]} \left\{ \left\| (h_2''(t) - f(x_2, t)) h_1(t) - (h_1''(t) - f(x_1, t)) h_2(t) \right\|_{C[0,T]} + \right. \\
& \quad + \left(\sum_{k=1}^{\infty} \lambda_k^{-2} \right)^{\frac{1}{2}} \left\| \|h_1(t) + |h_2(t)|\|_{C[0,T]} \left[\|\varphi^{(5)}(x)\|_{L_2(0,1)} + \right. \right. \\
& \quad \left. \left. + \|\psi'''(x)\|_{L_2(0,1)} + \sqrt{T} \|f_{xxx}(x, t)\|_{L_2(0,1)} \right] \right\} \\
B_3(T) &= \left\| [h(t)]^{-1} \right\|_{C[0,T]} \left\| \|h_1(t) + |h_2(t)|\|_{C[0,T]} \left(\sum_{K=1}^{\infty} \lambda_k^{-2} \right)^{\frac{1}{2}} T.
\end{aligned}$$

From inequalities (3.14)-(3.16) we obtain

$$\begin{aligned}
& \|\tilde{u}(x, t)\|_{B_{2,T}^{5,3}} + \|\tilde{a}(t)\|_{C[0,T]} + \|\tilde{b}(t)\|_{C[0,T]} \leq \\
& \leq A(T) + B(T) \left(\|a(t)\|_{C[0,T]} + \|b(t)\|_{C[0,T]} \right) \|u(x, t)\|_{B_{2,T}^{5,3}}, \quad (3.17)
\end{aligned}$$

where

$$A(T) = A_1(T) + A_2(T) + A_3(T), \quad B(T) = B_1(T) + B_2(T) + B_3(T).$$

So, we can prove the following theorem:

Theorem 3.1 *Let conditions 1-4 be satisfied and*

$$(A(T) + 2)^2 B(T) < 1. \quad (3.18)$$

The problem (2.1)-(2.3), (2.5) has a unique solution in the ball $K = K_R \left(\|z\|_{E_T^{5,3}} \leq A(T) + 2 \right)$ of the space $E_T^{5,3}$.

Proof. In the space $E_T^{5,3}$ consider the equation

$$z = \Phi z, \quad (3.19)$$

where $z = \{u, a, b\}$, the components $\Phi_i(u, a, b)$ ($i = 1, 2, 3$) of the operator $\Phi(u, a, b)$ are defined by the right hand sides of equations (3.5), (3.8) and (3.9).

Consider the operator $\Phi(u, a, b)$ in the ball $K = K_R$ from $E_T^{5,3}$. Similarly to (3.13) we obtain that the estimations

$$\begin{aligned}
\|z\|_{E_T^{5,3}} &\leq A(T) + B(T) \left(\|a(t)\|_{C[0,T]} + \|b(t)\|_{C[0,T]} \right) \|u(x, t)\|_{B_{2,T}^{5,3}} \leq \\
&\leq A(T) + B(T)(A(T) + 2)^2, \quad (3.20) \\
\|\Phi z_1 - \Phi z_2\|_{E_T^{5,3}} &\leq
\end{aligned}$$

$$\leq B(T)R \left(\|a_1(t) - a_2(t)\|_{C[0,T]} + \|b_1(t) - b_2(t)\|_{C[0,T]} + \|u_1(x,t) - u_2(x,t)\|_{B_{2,T}^{5,3}} \right) \quad (3.21)$$

for the arbitrary $z, z_1, z_2 \in K_R$. Then, from estimates (3.20), (3.21), taking into account (3.18), it follows that the operator Φ acts in the ball and is contractive. Therefore in the ball $K = K_R$ the operator Φ has a single fixed point $\{u, a, b\}$ which is a unique solution to equation (3.19) in the ball $K = K_R$, i.e. $\{u, a, b\}$ is a unique solution to system (3.5), (3.8) and (3.9) in the ball $K = K_R$.

The function $u(x, t)$ as an element of the space $B_{2,T}^{5,3}$ has continuous derivatives $u_x(x, t), u_{xx}(x, t), u_{xxx}(x, t), u_{xxxx}(x, t), u_t(x, t), u_{tx}(x, t), u_{ttx}(x, t)$ in D_T .

As one can easily see from

$$\left(\sum_{k=1}^{\infty} \left(\lambda_k \|u_k''(t)\|_{C[0,T]} \right)^2 \right)^{\frac{1}{2}} \leq \sqrt{2} \left(\sum_{k=1}^{\infty} \left(\lambda_k^5 \|u_k(t)\|_{C[0,T]} \right)^2 \right)^{\frac{1}{2}} + \\ + \sqrt{2} \left\| \|a(t)u_x(x, t) + b(t)u_{tx}(x, t) + f_x(x, t)\|_{C[0,T]} \right\|_{L_2[0,1]}$$

It implies that $u_{tt}(x, t)$ are continuous in D_T .

It is easy to check that equation (2.1) and conditions (2.2), (2.3) and (2.5) are satisfied in the usual sense. Therefore, $\{u(x, t), a(t), b(t)\}$ is a solution to problem (2.1)-(2.3), (2.5), and, by virtue of the corollary of Lemma 1, it is unique in the ball $K = K_R$.

The theorem is proved.

Using Theorem 1, we prove the following:

Theorem 3. Let all conditions of Theorem 2 be satisfied and

$$\varphi(x_i) = h_i(0), \quad \psi(x_i) = h_i'(0) \quad (i = 1, 2).$$

The problem (2.1)-(2.4) has unique classical solution in the ball $K = K_R(\|z\|_{E_T^{5,3}} \leq R = A(T) + 2)$ from $E_T^{5,3}$.

References

1. Aliyev, S.J., Heydarova, M.N., Aliyeva, A.G.: On the existence of classical solution to one-dimensional fourth order semi-linear equations. *Adv. Differ. Equ. Control Process.* 31, 165–185 (2024). 14
2. Azizbayov, E.I., Mehraliyev, Y.T.: Inverse problem for a parabolic equation in a rectangle domain with integral conditions. *Eur. J. Pure Appl. Math.* 10, 981–994 (2017). 9
3. Azizbayov, E.I., Mehraliyev, Y.T.: Nonlocal inverse boundary-value problem for a 2D parabolic equation with integral overdetermination condition. *Carpathian Math. Publ.* 12, 23–33 (2020). 10
4. Bolotin, V.V.: Nonlinear oscillations of shafts beyond critical rotation speeds. *Collection of Problems of Strength in Mechanical Engineering, Issue 1*, Publishing House of the USSR Academy of Sciences (1958). 1
5. Erofeev, V.I., Kazhaev, V.V., Semerikov, N.P.: Waves in rods. Dispersion. Dissipation. Nonlinearity. Fizmatlit, Moscow (2002), 208 p. 4
6. Ivanchov, M.I.: Inverse Problem for Equations of Parabolic Type. VNTL Publishers, Lviv (2003). 5

7. Kamynin, V.L.: On the inverse problem of determining the right-hand side in a parabolic equation with the condition of an integral redefinition. *Math. Notes* 77, 522–534 (2005). 11
8. Kanca, F., Mehraliyev, Y.T.: An inverse boundary value problem for a second-order elliptic equation in a rectangle. *Math. Model. Anal.* 19(2), 241–256 (2014). 12
9. Kapitsa, P.L.: Stability and transitions through critical speeds of rapidly rotating rotors in the presence of friction. *Zh. Tekh. Fiz.* 9(2), (1939). 3
10. Khudaverdiev, K.I., Veliyev, A.A.: Study of a one-dimensional mixed problem for a class of third-order pseudohyperbolic equations with a nonlinear operator right-hand side. *Baku* (2010), 168 p. 15
11. Kostin, A.B., Prilepko, A.I.: On some inverse problems for parabolic equations with final and integral observation. *Mat. Sb.* 183(4), 49–68 (1992). 13
12. Mehraliyev, Y., Ramazanova, A., Sevdimaliyev, Y.: An inverse boundary value problem for the equation of flexural vibrations of a bar with an integral condition of the first kind. *J. Math. Anal.* 11(5), 1–12 (2020). URL: www.ilirias.com/jma 8
13. Mehraliyev, Y.T., Sevdimaliyev, Y.M., Mamedov, Kh.B.: On the solvability of the inverse boundary value problem for the equation of transverse vibrations of an elastic beam. *Trans. Natl. Acad. Sci. Azerb., Ser. Mechanics* 38(7), 56–65 (2018). 6
14. Panahov, G., Abbasov, E., Ehmedov, A., Mamedov, I.: Modelling of internal transformations of gas phase in porous media. *Adv. Math. Models Appl.* 9(1), 54–67 (2024). <https://doi.org/10.62476/amma9154> 16
15. Robertson, D.: Hysteretic influences on the whirling of the rotors. *Proc. Inst. Mech. Eng.* 131, (1935). 2
16. Sevdimaliyev, Y.M., Mehraliyev, Y.T., Ramazanova, A.T., Matanova, K.: An inverse boundary value problem for the equation of flexural vibrations of a bar. *Trans. Natl. Acad. Sci. Azerb., Ser. Phys.-Tech. Math. Sci. Mechanics* 39(7), 1–8 (2019). 7